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Instructions.  Do all of the problems in numerical order.  Show all of your work.  Partial credit awarded where possible.

1.
Two groups were selected for an experiment.  The sample data is reported below.








Group A

Group B

Mean Spending ($)


100


83


Standard deviation ($)


18


30


# of Males




8


12




Sample Size



20


25

(10)
a.  Set up a 99% confidence interval for the population variance for group A?

(10)
b.  Test at the 1% level the hypothesis that the population variance from Group B is larger than Group A?  (Hint: use a one-tail test)

(10)   c.  At the 10% level does group A have a different mean spending level than Group B?

(10)
d.  At the  5% level is the proportion of males in group B higher than Group A?

2.
Recent polls suggest that Howard Dean will beat Al Sharpton or John Kerry in the democratic primary because of his initial anti-war stance.  The table below reports the breakdown of a sample of 500 registered democrats by candidate and position status.



Dean
Sharpton
Kerry

Anti-war democrat

150
50

50



Pro-war democrat

70
60

70


No Stance

15
20

15



(10) 
a.  At the 1% level does the above data support the hypothesis that choice of candidate and stance on the war are unrelated?

3.   A roulette wheel contains 18 red numbers, 18 black numbers, and two green numbers.  The table below shows the frequency with which the ball landed on each color in 114 trials.  


Color
Red
Black
Green


Frequency
50
58
6

(10)
a.  Perform a 2 test to determine if the roulette wheel is fair.  Set the Type I error equal to 5%.
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